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L xmwn: nyw of various liquids (note: from “0il” and on is analyzed on next page)
a.  Wine: enough for »m of a v13 (Xn»11 - "na’ ©13” in other words — 1272 Y ©1), which needs 4 of a ny»a9
i Based on: 1 part wine to 3 parts water, totaling a ny»a1 (= 1 MYV is ~.75)
ii. Support (827): from end of mwn which sets default my»w at a9
1. Challenge (»3x): 1:1 0T determines that for 7w 1, 1 part wine to 2 parts water
a. Answer (837): that is W 1, which is weak; or that is for color (comp. with nT 7), not flavor
2. Challenge (7a5): why would he be liable for taking out a ¥4 n»»"21 of wine,unfit for drinking as is?
a.  Answer (837): re: N2W NRYN, it is significance which determines n™yw; V4 y>17 is 219N
iii. %11 Koo the 1w for dried up wine is nr, per 1M "
1. 9or 37:3m " and N 7201 "1 had common perspective (that a dried ny»17is a n19)
a. /7 72 0p 1. on father’s observation that one of the mamn of "1 is NY2) DT NRMY

i »72>7. only if it is n’y>17, because it becomes a n’1> when dried

b.  »an: perhaps they don’t agree;
i /112 7. may only hold that wine has that ratio, but 07, which is thicker, is more than n>t
ii. »72>7. may hold that that relationship is true for 71, which is thick, but for 1, n»y a1 <1

1. And: if one takes out less than n>t of dried up wine, is 27n
b. Milk: enough for one swallow

i. Note: clarification of spelling — with &8, not » (per v. 1)
1. Tangents: clarification of proper spelling of 1y (v. 2), mnmy (v. 3), oW (N30 Nav - v. 4)
ii. pr1pw. for animal milk — enough for a swallow; for human milk or egg white, enough to put on

applicator of bandage for eyes; and 119w of applicator is enough to put water
1. »wx “7is that enough for the water or also the part needed to hold? yp'n
c.  Honey: enough to put on a wound on the back of an animal (from burden/saddle)

i. ~1272: enough to put on opening of wound
1. Question: does that mean the entire opening or just the point? 1p’n
ii. Tangent (27): everything 'n created has a purpose (5 insects/reptiles that have medicinal qualities)
iii. ~n272 5 cases where the weak one puts fear into the strong one (examples given; v. 5)
iv. Tangent: story of 1 "1 asking nTn’ 171 questions about the animal world and about the relationship

between Aramaic words and their etymology (v. 6)
d. Oil: enough to put on a small limb
e. Water: enough to soften salve put into eye
f.  All other liquids, including p»19® (filthy water): n'y>11 (approx.. 3 0z)
i. ™. these “off”mMyw are only for a y13n; for anyone else, always a n'y»a1
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